
Part List US-English

21-04-2015

     Model:
     GERNI CLASSIC C 
120.2

GERNI CLASSIC 120.2



Table of Contents
GERNI CLASSIC 120.2

Overview 3
Motor pump unit 5
Default accessories 7



Overview
GERNI CLASSIC 120.2

21-04-2015

3

Part List ID
GC120302



Overview 21-04-2015

GERNI CLASSIC 120.2 4
GC120302

Part List ID

Pos Qty DescriptionPart no.
0 1128500006 oldBOX 10PCS GERNI C120.2

01 1128500014 FRONT COVER C120.2

02 1127440198 MAIN SWITCH

03 1127440197 CAPACITOR 30UF 500V FOR 230V

06 2127440056 PLASTIC SCREW M4X16

07 1127440243 CABLE RELIEF BLACK

08 1127440244 RIGHT LEG COVER BLACK C120.3

09 1127440245 RIGHT CHASSIS BLACK

11 2128500015 WHEEL KIT FOR C120.2

12 1127440092 LEFT LEG COVER BLACK C120.3

13 1127440246 LEFT CHASSIS BLACK

15 1127440247 REAR COVER BLACK

16 2127440066 PLUG FOR HOSE HOOK BLACK

17 1127440067 HANDLE

18 1127440068 HOSE HOOK

19 1127440205 CLEANING TOOL BLACK

20 8127440093 PLASTIC SCREW KIT K15X18

21 1128500029 RUBBER MOUNT KIT

22 1128500291 MOTOR 1.7-1.8KW 230-240V



Motor pump unit
GERNI CLASSIC 120.2

21-04-2015

5

Part List ID
GC120306



Motor pump unit 21-04-2015

GERNI CLASSIC 120.2 6
GC120306

Part List ID

Pos Qty DescriptionPart no.
0 15301425 PUMP OIL 46 1X1 L

05 1127130066 WASHER D22XD6.4X1.5

06 14818 CYLINDER SCREW M6X20 ISO 4762 ST 8.8/ZN

07 1127440074 7.0DEG. WOBBLE DISC KIT

07 1127440248 8.1DEG. WOBBLE DISC KIT

08 1127440075 DIA.12 PUMP PISTON KIT

09 1127440249 MICRO SWITCH BOX KIT

10 1127440077 START STOP SYSTEM KIT

11 1127440078 O-RING 72X2 SH90

12 1127440079 CYLINDER BLOCK

13 16528574 WATER FILTER COMPLETE

14 1127440081 THRUST COLLAR WATER KIT

15 1127440082 NON RETURN VALVE KIT

16 1127440083 SUCTION AND PRESSURE VALVE KIT

17 1127440084 CYLINDER BLOCK WITH M8X10 HEX

18 3127440085 O-RING 11.7X2.0 SH90

19 3127440086 PRESSURE VALVE PLUG KIT

20 4127500029 WASHER

21 4127500050 SPRING WASHER

22 1127500071 SCREW M6X70 DIN 912 4PCS

23 1128500324 O-RING START/STOP VALVE NA0



Default accessories
GERNI CLASSIC 120.2

21-04-2015

7

Part List ID
GC120308

No Drawing For Part List



Default accessories 21-04-2015

GERNI CLASSIC 120.2 8
GC120308

Part List ID

Pos Qty DescriptionPart no.
1 1126411795 LONG FIXED BRUSH

1 1 PR TORNADO              YELLOW

1 1126481118 PR TORNADO TURQUOISE

1 1126481132 G3 GUN WITH INTERMEDIATE TUBE

1 1126481134 G3 LANCE COMPLETE

1 1126481138 HOSE 6M

1 1128500077 C C FOAMSPRAYER WITH BOTTLE

1 1128500384 GERNI PATIO PLUS

1 16520844 CLEANING TOOL BLACK


